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QUESTION 1

You\\'ve just created an NSS volume on your OES NetWare server named SHARED. Your server name is WIDGET1.
What name will be automatically assigned to the object for this volume in the eDirectory tree? 

A. SHARED 

B. WIDGET1_SHARED 

C. WIDGET1~SHARED 

D. WIDGET1#SHARED 

E. WIDGET1-SHARED 

F. NSS volumes aren\\'t represented by eDirectory objects. 

Correct Answer: B 

 

QUESTION 2

Which file extension is used for network board drivers in OES NetWare? 

A. .NCF 

B. .LAN 

C. .HAM 

D. .CDM 

E. .NLM 

Correct Answer: B 

 

QUESTION 3

You\\'re designing your organization\\'s eDirectory tree. You have decided to name your tree ACME_CORP- TREE.
You\\'ve created a Country object below the tree root and named it US. Within C=US, you\\'ve created four Organization
objects for each of your organization\\'s functional divisions. To ease administration, you\\'ve decided to place your
Admin user object directly below the tree root. Will this design work? 

A. Yes, all eDirectory rules have been observed. 

B. No, you can\\'t use an underscore in the tree name. 

C. No, User objects can\\'t reside directly below the tree root . 

D. No, Country objects can\\'t reside directly below the tree root. 

E. No, Country objects must use the full name of the country they represent, not its abbreviation. 
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F. No, if you use Country objects, the next level down the tree must represent geographic locations, not organizational
divisions. 

Correct Answer: C 

 

QUESTION 4

What information is contained within the Object Trustees (ACL) property of an eDirectory object? 

A. The globally unique ID (GUID) of the object. 

B. A list of rights the object has to other eDirectory objects. 

C. A list of other eDirectory objects that the object has rights to. 

D. The names of all trustees of the object and the rights granted to these trustees. 

Correct Answer: D 

 

QUESTION 5

You\\'ve configured an iPrint printer on your DA2 server, which has an IP address of 10.200.200.2. Your users now
need to connect to the server through a web browser and install the printer using the default printer list generated by
iPrint. Which URL should they use in their browser window to do this? 

A. http://10.200.200.2:631/ipp 

B. http://10.200.200.2:631/iPrint.htm 

C. http://10.200.200.2/iPrintdocs/ipp 

D. http://10.200.200.2/ippdocs/maps.htm 

Correct Answer: A 
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